


Спинкою зеленовата,
Животиком желтовата,
Черненькая шапочка 
И полоска шарфика. 































 5 дм + 3 дм = 8 дм    60 см – 1 дм =5 дм

 9 дм – 2 дм = 7 дм    4 дм + 30 см = 7 дм





• http://www.proza.ru/pics/2011/02/12/1122.jpg  -  весы
• http://sellglass.ru/glass/banka3.jpg - банка
• http://mayak.retroportal.ru/ushki/arhiv/a/25.jpg - весёлая 

коровка
• http://www.opt-mir.ru/data/c/l/4783-000-a.jpg - линейка
• http://www.upakovano.ru/pictures/news_imgs/News_S/pi

ctures19/muka-300(1).jpg  -  пакет муки
• http://slavclub.ru/zagadki/ptici/1385-sinichka.html - 

загадки
• http://luch-nadezhdi.ucoz.ua/load/3-1-0-11 - скворец
• http://dic.academic.ru/pictures/wiki/files/83/Sunflower_Se

eds_Kaldari.jpg - семечка
• Учебник математики 1 класс. Моро М.И.


